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It would be conservative, if incorrect to use this average value for design. Although a cable has less stressed 

area, cables typically are used in very long lengths (though perhaps not here for X-ray machines).
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This field is 2x the field for parallel plane geometry of same thickness:
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field, for concentric cylinders, from "High Voltage Technology", L.L. Alston table 1-1

0.5 do_150 di−( ) 4.55 mm=0.5 do_100 di−( ) 3.05 mm=dielectric thickness:

do_150 12.4mm:=do_100 9.4mm:=(both)di 3.3mm:=

From Essex Cable 2100 series, 100 and 150 kV cable with low density polyethylene

dielectric ID and ODs 
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